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1 : What are the two classifications of

system of units? | SrAT T YU & ar
R DAl 8?2

A : British and Metric | fafeer 3R sfifew
B : Gravitational and non-gravitational |
C : Fundamental and derived | FlE®
3R geued

D : Metric and International | #feew 3iR

ZeLAATA

2 : What are fundamental units? | &
¥ AAHT FDhISAT PIA-BITH 52

A : Length, Mass, Volume | @S,
GCIAT, 3T

B : Length, Mass, Time | a1, geIAT,
AT

C : Length, Mass, Area | didTS, GeIHT,
SELTC]

D : Length, Pressure, Volume | JiaTs,
ald |, A Ided

3 : What denotes letter M in MKS
system? | MKS JoTTell & M 378 &1

aRifar 2

A : Mile|#re

B : Meter|3eX

C : Milimeter | BeldTeX

D : Micron | #ATSshI

4 . How many millimetres are there in 1

inch? | 1 §9 & Irdal DHAARY Bld 72
A : 254 mm]|2.54 mm
B 25.4 mm | 25.4 mm
C : 245mm]|24.5mm
D 245 mm | 2.45 mm

5 : Whatisthe LCM of 12, 18, 6, 367? |
12, 18, 6, 36 T LCM OhdaT @IEm?

A 12|12
B : 18]18
C : 36|36
D : 42|42

6 : Whatisthe HCF of 18, 42, 247 | 18,
42, 24EFF HCF &1 &7

A 2|2

B : 6|6

C : 18]18

D : 24|24

7 . Whatis the improper fraction for the

given mlxed fraction ? | fgU 910 BT
Bied A @ 0 Bl PIAdr 87
3

7=
7

B~ O i O@nl~ ®am >

8 : Convertdecimal 0.000659 to
fraction? | 0.000659 GRIHA Bleel &l

TATYRUT Bed H dcal?
A .

655

1000
B

659

10004
C .

659

100000
D .

659

1000000
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9 : Simplify: | T Hif-
3

Divide: | #1a1 &IfS-

10

20 15
EYRE
A

11 : Whatis the product of 0.003 x 0.5?
| 0.003 x 0.5 &T IUTAH &FAT &2
A : 0.00015 | 0.00015

0.0015 | 0.0015

B
C : 0.015|0.015
D : 0.15]0.15

12 : Simplify: | S Hifo-
1749x52
G5
A : 13.69]13.69
B : 13.79|13.79
C : 13.89]13.89
D : 13.9913.99

13 : Whatis the length of each partis a
copper wire of 225 metre long is cut into

900 equal parts? | If¢ ERAT 225 HleX &
did & dR Pl 900 ERTeR HEN H drer I

al Up AT H FFITS Ehder ef?
A : 0.23 metre | 0.23 metre
B 0.25 metre | 0.25 metre
C : 0.28 metre | 0.28 metre
D 0.29 metre | 0.29 metre
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14 : Whatis the square root of 5297 |
529 &1 Gl AT 2

A : 13|13
B 23|23
C : 33|33
D 43|43

15 : Whatis the square root of 0.0177? |
0.017 &1 TIHA &AT §?

:0.001]0.001
0.13]0.13

0.00001 | 0.00001
0.000001 | 0.000001

OO wm>

16 : Whatis the definition of ratio? |
Jgura T oRemar am @7

A : Relation of two quantities of the
same kind | T&h & dXg &I &I FAEFTIT &
qag

B : Relation of two quantities of the
different kind | EMe UhR Hr & AT

S

C : Equality between two ratios | &
3UTAl & S HHATAT
D : Inequality between two ratios | g

3UTet & e EATA

17 . Whatis the ratio of 4 kg to 800
grams? | 4 ORell 31X 800 ITH H T

18 : What percentage of 80 is 20? | 80
&1 20 ufaerd @am 82

A : 08]0.8
B : 04|04
C : 0.25]0.25
D : 02]0.2

19 : How much is 8% of 40 kg? | 40
IRl T 8% Ohdel §?

A : 22kg|2.2kg
B : 3.2kg|3.2kg
C : 42kg|4.2kg
D : 5.2kg|5.2kg

20 : Convert 52% into fraction? | 52%
P BT H TEHRA?

A

B :

1

Cc :

1

D :

7

21 : Convert 0.456 decimal fraction into
percentage? | 0.456 GRIHA Bleel &l
ufaerd & aema?

A : 45.6% | 45.6%

B : 0.0456|0.0456
C : 0.456% | 0.456%
D : 0.0456% | 0.0456%

22 : Whatis the x value for x2 + 62 =
1027 | x2 + 62 =102 & [ET X AT FIAT §2

A : 4|4

B : 6|6

C : 8]8

D : 10|10

23 : Whatis the square root of decimal
number 550.37? | GG HEAT 550.37 Hl
aIHel AT B2

A : 21.26]21.26

B : 22.26]|22.26

C : 22.46]|22.46

D : 23.46|23.46

24 : What is the value of O8 + 018 -
2027 | 08 + 018 - 202 &1 AT FAT §?
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A 1 224|224
B : 3.24|3.24
C : 424|424
D : 524|524

25 : Whatis the side AB if AC=10cm
and BC = 6 cm? | If¢ AC = 10 @& 3R
BC =6 Qal &, AB ST &l HI T §?

G

A 8cm|8cm
B 6cm|6cm
C 5cm|5cm
D 4cm|4cm

26 : Whatis the side AB, if BC =15 cm
and AC =9 cm? | If¢ BC = 15 @Y 3R
AC =9 Tt & dl AB 3SIT &1 AT &1 §?

c
15em
fom

A ,, B
A 4cm|4cm
B 8cm|8cm
C 10cm | 10 cm
D 12cm |12 cm

27 : Whatis the value of side AC if AB =
7 cmand BC=5cm? | If¢ AB = 7 Qa1

3R BC =57 & a1 ¥ AC T T T
e?

A 8.2cm|8.2cm
B 8.6 cm | 8.6 cm
C 8.4cm|8.4cm
D 8.1cm|8.1cm

28 : Whatis the length L2, if total length
(L)is 2.75metreand L1: L2 =2:3? | 3fg

el oS (L) 2.75 X AR L1:12=2:3
©2dl L2 &l AT &7 NI 2

A : 1.1 metre| 1.1 metre

B : 1.25metre|1.25 metre
C : 1.65 metre | 1.65 metre
D : 1.75metre|1.75 metre

29 : How many days a mechanic takes
to assemble 64 machines if he assembles 8

machines in 3 days? | If¢ T HAbAH Br
8 AMAT A 38T I 3feT o & A
38 64 #ALMGT B 3TT A F Bhda G

?
A : 20 days |20 days
B 22 days | 22 days
C 24 days | 24 days
D 26 days | 26 days
30 : What will be the rpm of smaller

gear if a 180 mm dia meshes with 60 mm
dia gear and the bigger gear makes 60

rpm? | Ife 180 BT I aTell PRI 60
DFET ST dTel PTRR WX 3T 837 & 3R
g3T IR 60 IRUITH & gAT 21 oI

PR &1 AIRGTH T 29?2
A : 120 rpm | 120 rpm
B : 140 rpm | 140 rpm
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C : 160 rpm | 160 rpm
D : 180 rpm| 180 rpm

31 : Whatis the percentage of copper if
the casting weight of copper 42.3 kg and tin

weight 2.7 kg? | T HITECIT A dld &l
TSI 42.3 Freland 3R o &1 gt 2.7
m%sﬁmaﬁruﬁamwmo

A Cu 92% | Cu 92%
B Cu 94% | Cu 94%
C Cu 96% | Cu 96%
D Cu 98% | Cu 98%
32 : A motor cycle tyre is sold for Rs

300/- what is the purchase price if 25%
profit is added to it. | If¢ T A TBERA

TR A 300/ -F 97 ST &30 39

25% o1 @laT & ol Tle & AT F41 ¢
A : Rs200]|Rs 200
B Rs 220 | Rs 220
C : Rs240|Rs 240
D : Rs260|Rs 260

33 : Whatis the decimal fraction of
conversion of 18.5%7? | 18.5% ! GRIHd

BT afr Jeold ?

A 0.185]0.185
B : 0.175|0.175
C : 0.165]|0.165
D : 0.195|0.195
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34 : Which one is non-metal? | 3 &
37U Bl A &2
A : Mercury | ORT

B : Graphite | AHISC

C : Brass|Wdd

D Iron | SeT

35 : Which metal contains iron as a

major content? | TH & EHE U & Y@
e & FT F AET BT &2

A : Brass metal | fidel 4T

B : Bronze metal | SiteT 9T

C : Znc|&®

D Ferrous metal | Sl 9T

36 : Whatis the name of the metal
which do not contain iron? | 38 T T

armafm%mﬂmﬂﬁm%”

A : Ferrous metals | g 9T

B Non-ferrous metals | 3Tele €1
C : Insulating metals | dTelh 4T
D Non-Insulating metals | gdTelch AT

37 : Which one of the following
properties is the mechanical properties of

metal? | fAFDET & @ Bl a1 JoTee
U1q BT AP IOT &2

A Fusibility | Irereiizrar

B Ductility | d=adr

C : Corrosion | H&ROT

D Structure | I3

38 : Whichis brittle metal? | 3737 &
IR o1 Pl & §2

A : Castiron | &edr dlier

B : Steel|s&rd

C : Mild steel | d¥H sEATd
D : Alloy steel | B 9id SEUTd

39 : Which mechanical property of a
metal offers resistance to elastic

deformation in a cutting tool? | 41 Hr Pl
T IitAh IOT Th Plcd b SUPIOT H
KGR [E¥RUOT & @T GfciYg Uee &ddr
o7

Ductility | d=adr
Malleability | JTaTda¥iiradr
Hardness | 3RdT
Toughness | FHsTA

o0 wm >

40 : Which property of material enables
to formation of permanent deformation

without fracture? | 4Tl &7 @it &1 (0T for=m
thaFaX o TURN [EXRUCT & TS H T&TH
%’l?ﬁ X

Elasticity | 9TETAT

Plasticity | geareIdr

Ductility | deIdT

Brittleness | #IRaT

0O o >

41 . Which property of metal has its
power of returning to its original shape after

the applied force is released? | 41 Fr i
I IO I A W ERET JAT T g
W dqH AU GaTaeAqT # 3Tl S
IQ@dT &2

Malleability | JTaTdag=adr
Tenacity | T&dTl

Elasticity | 9camEdAT

Plasticity | gareIdr

0O wm >

42 : Which property of a metal
possessed by it melts when heat is

applied? | s & 41 v PIFAT IJOT
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Saa SIGH Pl IRA P U M@ ATl
&2

A Conductivity | dTelehdTl

B Malleability | JTaTdag==AT

C Fusibility | Ireleiiadr

D Tenacity | €edTl

43 : Which alloy used in electric lamp

as filament? | 398 & A DAN 4T &I
UG HeYd dod h holdc A IR
ST &2

A Cobalt | PlETee

B Vanadium | 4B

C Tungsten | TIFe

D Silicon | DI

44 . What metals contained in brass

alloy? | UicTel 3 ehiT-pleTdl T4 UTIT @iclt
&7

A : Copper and aluminium | dr&r 3R
TegaifaTaa

B : Copperand lead | drer 3iR drar

C : Copper and zinc | drem 3R SEdT

D : Copperand tin | dmEr 3R fe=

45 : Which cast iron cannot be welded?
| SHAT PIAAT TIdT Ael DI eI AT

ERIT ST Ghdl &7

A Grey cast iron | GHY Gordl ollgl

B White cast iron | e Tordl alel

C Malleable cast iron | (MedT Gofdl oligl
D Nodular cast iron | IMSGR Eerdl el
46 : Which metal cannot be forged? |

SAAY FE YT T Blois (STell) g1 ERIT
ST HhT ©2

A Alloy steel | B4 4Tq SEUTA
B Mild steel | goh TErel

C Steel | SEATd

D

Cast iron | @erdl ollgT

47 . Which metal is widely used for
making casting of machinery parts? |

AT 1INt Y TS I F FT R
U1 T YD &Y @ SUANT ERT SITCT §?
A 1 Grey castiron | HT Gefdl ollel

B White cast iron | e erdl @rel

C : Malleable castiron | (9eaT ofdl el
D Wrought iron | oigr

48 : Which furnace is used to get pig
iron from iron ore? | dilg 31ATH A [T

IRRA g & [FU A HITE &1 3TN
BRAT SATAT §72

A : Mild steel - Rever battery | gob Tl
- azrﬂ',

B Electric furnace | Selfdrges HST

C : Blastfurnace | e HId

D Cupola | ®arer

49 : What is the name of furnace to
obtained cast iron? | el el I &

[T FE HTS! T SUINT ERAT SATdT &7
A : Cupola | ®urer

B : Mild steel - Blast furnace | #Alses
I - Toee Bl

Steel - Rever battery | Tl - I

Alloy metal - Electric furnace | Talidf

A e

ATl - Solldged el

zcgo

50 : What is the other name of low

carbon steel? | f3e= BT FEel T @A
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ATH T B2

A Low alloy steel | ha A 9T
ERIGH

B : High alloy steel | 3= 4 91
SEUTT

C : High speed steel | [3Ta afd ¥t
D Mild steel | &b Tl

51 : Whatis the carbon percentage in

medium carbon steel? | ACIH I TIel

H PrIT o1 UfdAd EhdaT §?

A : 0.05% to 0.15% | 0.05% to 0.15%
B : 0.15%to 0.25% | 0.15% to 0.25%
C : 0.25%t0 0.5% | 0.25% to 0.5%

D 0.5% to 1.5% | 0.5% to 1.5%

52 : Whatis the carbon percentage in
low carbon steel? | [ eI el H

anéammcr%m%’lm%?

A 0.02% to 0.03% | 0.02% to 0.03%
B 0.15% to 0.25% | 0.15% to 0.25%
C 0.25% to 0.50% | 0.25% to 0.50%
D 0.50% to 1.50% | 0.50% to 1.50%
53 : Whatis the carbon percentage in

high carbon steel? | 3Ta @I e #

anéammcr%m%’lm%?

A 0.02% to 0.03% | 0.02% to 0.03%
B 0.15% to 0.25% | 0.15% to 0.25%
C 0.25% to 0.50% | 0.25% to 0.50%
D 0.50% to 1.50% | 0.50% to 1.50%
54 : What is the ore of aluminium? |
TogAITAI &1 AP AT &2

A Hematite | gaifee

B Mallatite | #ellese

C Bauxite | dfFaTSC

D Lemonite | ofAIATSC

55 : Which property of a metal enables
it by which it can be drawn out into wires

under tension without rupture? | 9T T dg
Ior Ry g A AT ¢ AR % w0 A
ddr ST bl 82

A Ductility | deIdT

B : Malleability | 3eEmda<ieiadr

C : Hardness | HoRdT

D Brittleness | $IRdT

56 : Which among the following is an
insulator? | AT H & Pid Th
FeTer® &2

A Copper | dTdT

B Aluminium | TegHAATH

C Silver | ATr

D Mica | DH<T

57 : Which rubber is used as insulator

for power cables and control wires? | Tegd
e 3R AU ART S U G
T H Y IR T STAT ERAT SATdT &2
A : Butyl | =gesed

B Hypalone | &TsUallT

C : Silicon | HmRIA

D Nitrite butadiene | ATS¢ISC sq¢\<:|s"|c|

58 : Which alloy steel is used to make
permanent magnets? | TARAT Iadeh AT

& [FU (EhE 4 U1 $EUTd &l 3a1eT
ERIT SITdT &7

A Silicon steel | TAE®IT S¥ATd

B Manganese steel | #TeTaT sEUTT
C : Vanadium steel | 39EBIH U
D Cobalt steel | dldTee U

59 : Which insulator is used in over
head lines? | 371 & FHE Fdleld Al

SUANT 3R 83 el H EHAT ST 872
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A : Mica|

Hepr

B : Rubber|

X

C : PV.C|

PV.C

D : Porcelain|

OimEele

60 : Which insulating material is used
for making switches? | aa a1 & ©T
FhE PrdTelch TN BT ST EHAT ST
&7

A Porcelain | Qo

B PVC | drde

C Bakelite | dFelrse

D Ebonite | dla18c

61 : Whatis the name of the property of
an insulation that should brake down or
puncture on application of high voltage? |

UfcRIYe &1 g% I[OT &1 & SN 3 dleds
& I W T ST MRV AT TR BT
rfgu?

. Di-electric strength | TRTegel
Specific resistance | ERSE TfaeT
Mechanical strenth | Tif3e® @y
Non absorption | 3R 3r@iwor

O 0O m >

62 : Which alloy steel is using for
making precious instrument? | BhH A

SEUTA T 3TINT HIAAT SYRIOT Jelld &
BT ORAT SATdT §7

Silicon steel | A ST
Manganese steel | HelraT g¥aTd

Invar steel | $ed¥ SEATd
Vanadium | 9B

o 0O W >

63 : Which steel is used for making files

and cold chisel? | It 3R Pleg Sl ga
& [T BT Tl T 3TN BRAT ST &7

A : Low carbon steel |
A FEa &

B : Midium carbon steel | AEIH FHI
C : High carbon steel | 3T FEa T

D : Stainless steel | &g TErel
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64 : Whatis termed as the quantity of
matter contained in a body? | a¥q # fAfed

ucry T ATAT P AT Bl SATdT &2

A Density | g0cd

B Volume | A Tdd

C Mass | I

D Specific gravity | [FIRISC IecT

65 : Whatis the force with which a body
is attracted by the earth towards its centre?

| g8 Pl a1 g & SHd FROT B o
awtraﬁaiaﬁaﬁraﬂ?muﬁﬁ%ﬁf%”

A Mass | AT

B Weight | X

C Volume | 3 Ada

D Density | g0cd

66 : Whatis called mass per unit

volume of a substances? | BF&ET Terd &
GTAT Ufd IS IMAAA Pl AT Fed &2

A Mass | gcTHATA

B Weight | X

C Density | gd0cd

D Volume | 3ada

67 : Whatis called the ratio between

the density of a substances density of water
at 4°C? | erdf & gdca aur 4 ° C O Ure

& AT BT IIUIT FAT HEelldl &?
A : Density | gddcd

B : Specific gravity | AIRTSC ocT
C : Mass | gcgATd

D Weight | X

68 : What is the density of aluminium? |
TogAMATH T Tefcd Ehcla BT &7

A : 2.7g/lcm3]|2.7 g/lcm3
B : 3.7g/cm3|3.7 g/cm3

C : 4.79/lcm3|4.7 glcm3
D : 5.7g/cm3|5.7 g/cm3

69 : Whais the mass if the density of a
body is 7.6 g/cm3 and its volume is 25

cm3? | If¢ T Ms &1 gaca 7.6 AT /
T3 § 3R 5T 3da 25 @3 § ar

$HChI acddHled LEhddl §|3||'7

A : 190 grams | 190 grams
B : 200 grams | 200 grams
C : 210grams| 210 grams
D : 220grams| 220 grams

70 : Whatis the specific gravity of the
solid, if density of the solid is 19.5 g/cm3? |

afg o & gdca 19.5 IH /JAN3§ Al
3T I [HRISC TXcd Fhelell e &,

A : 18.0|18.0
B : 185|185
C : 19.0]19.0
D : 19.5|195

71 . Whatis the density (r) in g/cm3 of
an iron cube, if it weighs (W) 4.8 kg and

volume (V) is 640 cm3? | T olie & & &l
gcd(r) g/ cm3 & Erdar 1m,afe s
HR(W) 4.8 BhellIA 3R 3MATA(V) 640

cm3 %’?

A : 6.6g/cm3]|6.6 g/lcm3
B : 6.9g/cm3|6.9g/cm3
C : 7.29g/cm3]|7.2g/lcm3
D : 759g/cm3|7.5g/cm3

72 . Whatis the volume (V) of mercury
in cm3, if mass (m) of mercury is 1 kg and

density (r) is 13.6 g/lcm3? | If¢ IRT &1
GcATT (m) 1 ORaT & 3R g9 () 13.6 g
/cm3 % a R & 3aaa (V) Fe 3R
EhdT BIT?

73.53 cm3 | 73.53 cm3

73.43 cm3| 73.43 cm3

73.33cm3| 73.33 cm3
73.23cm3| 73.23 cm3

o0 ®>»
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73 . Whatis the mass in gram, if a force
of 15 dyres acting on a mass m producing

an acceleration of 2.5 cm/sec2? | ¢ ERET
aEJ W 15 QA T g 9 & a&] 2.5

Tt / AFE2 BT 0T § fd Hdr & ar

I BT GIATH FAT T2

9 grams | 9 grams
8 grams | 8 grams
7 grams | 7 grams
6 grams | 6 grams

OO wm>

74 . Whatis the specific gravity of the
metal, if the piece of metal weighs 150

grams in air and 125 grams in water? | 91
Pl [HRISC T FAT &9, I U1 &l
ghs I WR Far # 150 U1 AR Ul &

125 IqTH 2

A : 6|6

B 10|10

C 15|15

D 25|25

75 : Whatis the volume of mercury in

cma3, if the mass (m) of mercury is 136
grams (g) and density (r) of mercury is 13.6

g/cm3? | I URT P GeIATT (m) 136 ATH
& 3R uRT @1 g9 (1) 13.6 g/ cm3 & ar

uﬁa?rma?rmfl‘r’\sﬁarmmv

136 cm3 | 136 cm3

13.6 cm3 | 13.6 cm3
10.6 cm3 | 10.6 cm3
10.0cm3|10.0 cm3

OO wm>

76 : Whatis the block weighs (W) in kg,
if volume (V) is 320 cm3 and density 8.9

g/lcm3? | f&T 9T sdlich T AR Ehellame A
FT B [ afe ST Iaaa (V) 320 A3

3R gaa 8.9 WA /A3 2

2.948 kg | 2.948 kg
2.848 kg | 2.848 kg
2.648 kg | 2.648 kg
2.448 kg | 2.448 kg

OO w>

77 . Whatis the specific gravity of the
metal, if the weighs 6.5 kgf in air and 3.5

kgf in water? | Ife; U1 &I HR 6.5
RIS &aT H AT 3.5 Bhcll N Ulell &
%Fﬁﬂmaﬁrmmmmwmv

A 6.166 | 6.166
B 3.166 | 3.166
C 2.166 | 2.166
D 1.166 | 1.166
78 . Whatis the weight force of a car

has a mass of 800 kg?(Take g =
9.81m/sec) | Teh hR &I AN el 800 FhIT

P GTATT BT &2 (ST S = 9.81 31| /

m)

7848 Newton | 7848 Newton
7748 Newton | 7748 Newton
7847 Newton | 7847 Newton
7487 Newton | 7487 Newton

oO0Om>
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79 : Whatis the formula for speed? |
afd T FF AT §?

A : Distance covered/Time | & &1 5
AAT

B : Change in velocity/Time | d97 &
gRada A a

C : Distance in definite direction /Time |

fafea f&er & g asa
D : Change in momentum/Time | GdaT &
afRada A

80 : Whatis the unit of speed? | 91T &r
s‘cmé ER I Y

A Metre/second | HTeX AdUs

B Metre/second2 | #Tex AdUs2

C : Metre/minute | FeI HC

D Metre/hour | e AoC

81 : Whatis the formula for velocity? |
AIT I T FAT 82

A : Distance covered/Time | a& &I I8
AAT

B : Displacement/Time | @fRaa feemr &
RS

C : Change in velocity/Time | a7 &
WEIA AT

D : Change of momentum/Time | a9 H
aRada aag

82 : Whatis the unit for velocity? | da1
2l s‘cﬂé T 2

A : Metre/second | #eI AHUS

B Metre/second?2 | HeI AHhUus?2

C : Metre/minute | HeIMHAC

D Metre/hour | 3fTeX Aoe

83 : Whatis called if a body posses
only magnitude or size alone? | f5& a&g

H URATT IT AT BT &, 3H FAT Ped
e?

Speed | 1fa

Velocity | 99T

Vector quantity | SfEer IRT
Scalar quantity | 37f¢er TRr

0O o >

84 . Whatis called if a body posses
both magnitude and direction of velocity? |

afy aeq & TRET AT AT QA @, A 39
FIT el ST &7

A : Speed |7

Velocity | a9T

Vector quantity | &fger Tmr

Scalar quantity | 377¢Rr ITRT

O 0O W

85 : What is the rate of change of
displacement of a body? | EFET a& #

[EEATTS &b gRade &l &3 a1 2
A : Body at rest | a&J BT EHHTH H BT

B Body at motion | a&q @ Tfd &
BT

C : Speed|7fa

D Velocity | I9T

86 : Whatis called if a body does not
change its position with respect to its

surroundings? | I IS T Tl TRAT
& T F 3o RBufa o a& agaar g,
al 38 T Bl AT &2

A : Body at motion | a&q T I H
-

B : Body atrest|a¥q HT EHH H gl




Workshop Calculation and Science — Year 1 Module 5
Reviewed and updated on: 01% November 2019 Version 1.1

C : Speed|afa
D : Velocity | 99T

87 : Whatis called if a body changes its
position with respect to its surroundings? |

gie S aE] Ul IRAA H HIY F
Fueh Rufa o aeerar & @ 38 &1 wa
ST &7

A : Body atrest | aFJ T EHATH & gl

B : Body at motion | g% T aIfd &
et

C Speed | 1fa

D Velocity | 99T

88 : Whatis velocity of a body travels a

distance of 168 metres in a line in 21
seconds? | 3 &&] &1 9T T BT &, ST

21 @hUS A Th @M H 168 X 6T gl
ag T 82

A : 6misec|6 . AHUS

B : 8misec|8 Al AwUs

C : 10 m/sec |10 #I.&A®Us

D 12 m/sec | 12 #Y. A&Us

89 : Whatis the speed of a train of 80
metre long train passes a railway station
platform of 120 metres length in 20

seconds? | T& 80 HieX ol ¢ &I I
7 gefl, S 20 ARUS H 120 ofFd
CATHhIe & IR §?

A : 30 km/hour | 30 FRETHTE

B : 32km/hour |32 EReTATS

C : 34 km/hour |34 ER&TETS

D 36 km/hour | 36 ERaT AT

90 : Whatis the formula for
acceleration? | TR & U HF AT &2
A

91 : What s the unit of acceleration of
an object? | EAEY a&] b @ROT HT IS
T B2

A Metre/second | #eT AwUs

B Metre/second?2 | HTeX AHus?2

C Metre/minutes | HICI MHAC

D Metre/minutes2 | I MHC2

92 : Whatis the acceleration of a car if

the speed of the car has increased from 25
km per hour to 40 km per hour in one

minute? | T PR T caX0T FAT BT &,
I PR H I Th Wde § 25 Fra Ui
gue ¥ dehd 40 ORaAT Ufa gue @ Srdr
e

A 0.059 m/sec2 | 0.059 3 AFHUs?2
B 0.59 m/sec2 | 0.59 I AHUS2
C 0.069 m/sec2 | 0.069 T A®HUs2
D 0.69 m/sec2 | 0.69 T AHUs2
93 : What s the retardation of a car

moving with a velocity of 50 km/hr is
brought to rest in 45 seconds? | 50

ERATEUST & I & Toled dlell PR Pl 45
JhUs F M@AH FH o1 AT &, dl ST
e T &7

A 0.40 m/sec2 | 0.40 I AHUS2

B : 0.30 m/sec2|0.30 3 &AHUs2

C : 0.20 m/sec2|0.20 T AHUS2

D 0.10 m/sec2 | 0.10 I AHUS2
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94 : What is the acceleration of an
aeroplane taking off from landing field has
to run 700 metres if it leaves the ground in

10 seconds from the start? | *if0s Hres &
33 IR dTo &dTS STeTel &l <ol &l
o &, afg aY ep-3% & mT 700 AR
&l gl 10 Gehvus & dF B W ST
oI T &2

A 8 metre/sec2 | 8 HI AHUS2

B : 10 metre/sec2 | 10 eI AHUs2

C : 12 metre/sec2 |12 eI AHUs2

D 14 metre/sec2 | 14 eI AHUs2

95 : What maximum height a stone will
reach if it is thrown upwords with a velocity

of 20m/sec?(g = 10m/sec2) | BFET TRR &I
IR 15 &1 el I 38 20
HreXAFUs (g = 10m/sec2) & T & W
&1 3R et FTT?

A : 10m |10

B 20 m | 20 AT
C : 30m|30&
D 40 m | 40 &Y
96 : Whatis the work done in unit time?

| Uk SehTS HHT H ERAT IT A T

%’HT%?

A Energy | 4T

B Power | QIfdreT

C Force | deT

D Acceleration | 0T

97 : Whatis the capacity of a body to
do work is called? | ERE a&] T B A

T &THAT BT T Ped &7
A : Energy | Zal
B : Power | Ifdd

C : Acceleration | cdoT
D : Force|dd

98 : Whatis the ratio of power output to
power input? | AT 3T3eTe 3R LAfdd
I ol 3HIUTT T BT &2

A : Work | &

B Energy | a1

C : Efficiency | G&Tdr

D Acceleration | 30T

99 : Whatis called if a force of 1INewton
acts on a body and moves it through a

distance of 1 metre? | G Teh =g &P
gel EFAT I W B AT & 3R 38 Th
X T g db FeAdT (EFIAT) &,
WWW%’)

A : 1Joule |13

B : 10Joules |10 5fe

C : 1ldyne|l3BEa

D : 10dynes| 1033

100 : How many ergs for 1 Joule? | 1

S & el 3rTE g &2
A 103 ergs | 103 37T
B 105 ergs | 105 37T
C : 107 ergs | 107 37918
D : 109 ergs | 109 37TH

101 : How many newtons for 1
kilogram? | 1 ERellITH # Ehcel =gee aid
o7

981 Newtons | 981 =g

98.1 Newtons | 98.1 =&

9.81 Newtons | 9.81 =gca

0.981 Newtons | 0.981 =g

0O wm >
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102 : How many watts for 1 horse
power in metric system? | #f¢h DAFEH A

1 gr\fr qreR # Bhdel d1cd gld §?
A @ 7255 watts | 725.5 91cH
B 735.5 watts | 735.5 dicH
C : 7455 watts| 745.5 dicH
D 755.5 watts | 755.5 drcH

103 : How many watts for 1 horse

power in British system? | fafeer oaeest #,

1 grzfr qrek H Bhdel d1cd gld §?
A . 726 watts | 726 drcH
B 736 watts | 736 dIcH
C . 746 watts | 746 9IcH
D 756 watts | 756 dTcH

104 : Whatis the equivalent unit for
1horse power in metric system? | #Af¢®

0HECH # T g UrR &l HAJeT FhS
FT B2

A 75 kg.m/sec | 75 ORAT.3 AHUs

B 76 kg.m/sec | 76 ORI AHUS

C : 77 kg.m/sec |77 ERIT.FH ARUS

D 78 kg.m/sec | 78 ORI AHUs

105 : Whatis the formula for potential
energy? | TEATAST Sl &1 I AT §2

A mgh joule | mgh sfeT

B mgh2 joule | mgh2 et

C : 1/2mgh joule | 1/2 mgh Set
D 2/3 mgh joule | 2/3 mgh et

106 : What s the formula for kinetic
energy? | IS ST &1 I FAT §?

A @ 12mvjoule | 1/2 mv sfel

B @ 1l/2mv2joule|1/2 mv2 Sfel

C : 2/3mv2joule | 2/3 mv2 [l
D : 2/3mvjoule | 2/3 mv el

107 : How much work done in one hour,
if a pump can raise 100 liters of water
through a height of 200 meters in one

minutes? | T G0 H Ihdal B il &,
Ife Tk Ug Uk M & 200 Hex F5

de 100 el Urel 3T dohdl &7

A : 12x104 kg meter | 12 x 104 kg
meter
B : 12x105kg meter |12 x 105 kg
meter
C : 12x106 kg meter |12 x 106 kg
meter
D : 12x107 kg meter | 12 x 107 kg
meter

108 : Whatis the work done, if a force
of 250 newtons acted upon a body and the
body has been moved through a distance of

15 metres? | Ife 250 =g doT & ERET
TE] W B AT § 3R a&q 15 HAe &
q:i’r dh el &, Al Ehclell i T &2

A 3720 Joules | 3720 Sfe1

B 3730 Joules | 3730 s{t

C : 3740 Joules | 3740 Sfet

D 3750 Joules | 3750 s{et

109 : Whatis the potential energy, if a
body of mass 250 kg is at a height of 30

metre? | If¢ 250 ERIT GeTATT I Th
T 30 e & Fur W @, ar eufas

mﬁmrd?ﬁ%’rcﬁ#

A : 7257KJ|72.57KJ
B : 73.57KJ|73.57KJ
C : 7457KJ|74.57KJ
D : 75.57KJ|75.57KJ

110 : Whatis the potential energy in a
body of mass 10 kg kept on the top of a

pole 20 metres height? | afe& 250 mRIT
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SehHA & Ueh a&] 20 HX T a1 b
Uil & W IW@T JdT &, ar TAfas s
Eﬂw_cl?ﬁ?ﬂ?ﬁ’?

A 1942 Joules | 1942 et
B 1952 Joules | 1952 Sfet
C 1962 Joules | 1962 et
D 1972 Joules | 1972 Sfet
111 : Whatis the work done in joules if

a load of 15.5 kg is lifted through a height of
4.4 metres? | If¢ ERAT 15.5 BRIT & HR

M 4.4 AT FAE db ST AT &, ar
SIel # el B Tl &2
A 639 Joules | 639 et
B 649 Joules | 649 Sef
C : 659 Joules | 659 et
D 669 Joules | 669 Sef

112 : Whatis the kinetic energy of a
bullet of mass 5gm travels with a speed of

500 m/sec? | Th 5 MH GeIATA &I Jolc
SEF 500 X AHUs H T A Ford &,
ar aIfasT S & Bt 87

A : 620 Joules | 620 Sef

B 625 Joules | 625 Sef

C : 630 Joules | 630 et

D 635 Joules | 635 Sef
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113 : Which refers the temperature? |
dTUAT Y FAT FEid T 872

A : Itis aform of energy | I Zail &l
Th & §

B : Ittells the state of heat | I§ FCaT I
HAEAT IATA &

C : Ittells specifie heat of substance |

Ig opaEY Uty fr muar B fAfEse Ppear @

D : Itis measured by calorie meter | I

Teh hell{l e @RI AT STl &

114 . Whatis the S.I unit of heat? | ZCAT
61 T3S, FhS FAT §72

A : Calorie | el

B Joule | et

C : Centigrade heat unit | §13I5 6T
SIS

D : British thermal unit | fIfeer 2afer

PG

115 : Which instrument is used to
measure heat? | AT &I AU & BT

IR 3UGIUT T SUINT ERAT ATl &2
A : Calorie meter | el #ex

B : Thermometer | J&T fex

C : Pyrometer | arsiiafiex

D : Barometer | Riefex

116 : Whatis the quantity of heat
required to raise the temperature of 1 gram

of water through 1°C is called? | 1 IITH Urir
& 1°C dIUHATA dgTal & [BHT HTIYh SCAT
6 AT B FAT Ped &2

A : Specific heat | [HRICC HTAT

B : Colorie | dhelRY

C : British thermal unit | fafeer aefer

PG

D : Centigrade heat unit | G135 AT

PG

117 : Whatis the value for specific heat
of water? | Oredl &1 [HIRTSC FCAT T AT
T &7

A : 4|4

B : 3|3

C 2|2

D 11

118 : Which type heat is the heat
absorbed or given off by a substance

without changing its physical state? | hH
Ui Y STHAT B 3Thr Hifdes g
geol [ EpET uard qanT raiNa oRaT
ST & AT BIST ST &2

A Latent heat | [T STaAT

B Sensible heat | H0FEe STAT

C Specific heat | HRISC STHAT

D Latent heat of steam | €& fr e
SCHAT

119 : Whatis the boiling point of water
in fahrenheit scale? | RSB Thel H

arell T g (boiling point) BFAAT BT

180°F | 180°F
112°F | 112°F

&2

A 1 212°F|212°F
B .

C

D 100°F | 100°F

120 : What s the freezing point of water
in kelvin scale (K)? | fead Thel 3 Trer
o1 ST wise o7 g dar §?
. 373°K | 373°K
: 313°K | 313°K

303°K | 303°K

273°K | 273°K

o0 o>
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121 : Convert 45°C (Centigrade) into °F
(Fahrenheit). | 45°C (HEI3) &r °F
(PReET) A gRafdd &Y |

A : 110°F| 110°F

B 111°F | 111°F

C : 112°F|112°F

D 113°F | 113°F

122 . At what temperature will
Fahrenheit and centigrade thermometers

give the same reading? | (hH dUATT WX
PReEBe 3R s yATHer gaa JEa
ad @2

A : -38°C|-38°C
B : -39°C|-39°C
C : -40°C|-40°C
D : -41°C|-41°C

123 : Convert - 273°C (Centigrade) into
kelvin scale? | - 273°C (TEIUS) &l dhicad

Thor A gRafda &2
A : 0°K|O°K
B : 1°K|1°K
C : 2°K|2°K
D : 3°K|3°K

124 . Whatis the value in degree
centigrade for 20°F? | 20°F &l AT BT

j F T gar §?

A : -6.37°C|-6.37°C
B : -6.47°C|-6.47°C
C -6.57°C | -6.57°C
D -6.67°C | -6.67°C
125 : What is the maximum

temperature that can be measured by
mercury thermometer? | @ 3iRIhdsl

AT Sl FREFGY YR @Ry AT S

TehaT &7

A : 400°C|400°C
B : 300°]|300°

C 200°C | 200°C
D 100°C | 100°C

126 : What is the name of temperature
measuring instrument? | dTUATT AT &

SUHIUT ol ITH AT &2

A : Vapour pressure thermometer | duX-
WX TATHIE
B : Bimetalic thermometer | aI8-FeHH

YATHIE
C : Radiation pyrometer | IBALMA

e

D : Thermoelectric pyrometer |

YTelfed UEIaHeT

127 . Which instrument is used to
measure temperatures of red hot metals up

to 3000°C? | 3000°C ieh offel 13 UTI3it
& dTUATT Pl AU & BT EhT SUHIOT
PT ST ERAT SATdT &7

A : Radiation pyrometer | IBAAA

BIESIEIEY

B : Thermoelectric pyrometer |

yATSAfFed AR

C : Bimetal thermometer | aT-Fcel
AYATHICT
D : Alcohol thermometer | Tedlgel
AYATHICT

128 : Which type of heat transmission
takes place through physical contact? | hH

UhR T FSAT HIROT Hifdd Joush &
ATCTH § BT &7
A : Conduction | H3FAT
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B : Convection | hAdarT
C : Radiation | IBIAAT
D : Reflection | Reelasre

129 : Which kind of heat transmission
takes places by up-ward flow? | BrH UPR

ST SCAT HERUT SW &l IR Jarg GaRT
BT &2
A : Conduction | HEFAT
B Convection | edarT
C : Radiation | IBIAA

D Reflection | RelerRraT

130 : Which one is the radiation method
of heat transmission? | ZSAT FAIOT T
IEAS MR P-4 &2

A : Anironrod is heated with one of its
end and heat transmitted to other end | Th

e T IS A 3P Th R J ITH AT
STl & 3R g& 0 dh SCAT 1 HUR

ERAT ST &
B : Cold water goes to the bottom from
top while on heating the water | Uil 737

P U BUST UEr U § A & 3K

31T &

C : On heating gases, heat transmitted
to surroundings | 3T HI ITH WA WV,
AT T IR dTdraioT & aIdr ©

D : The heat from sun travels through
the space | §& @ AT A& & HACTH

T T AT B

131 : Whatis called if the length of the
solid expands when heated? | Ifg 87 FHA

W 3 H TS aac &, ar AT Bl
ST &2
A : Linear expansion | Y@ JER

Superficial expansion | Ul IhRIIel

Cubical expansion | 9l JHR

B
UHN
C
D Area expansion | &3 TR

132 : Whatis the change in length per
unit original length per degree rise in

temperature is called? | IGHAT H Ufa Bt
A FFAS H TR Pl AT el Sl

o7

A : Co-efficient of friction | &ToT [0Tieh

B : Co-efficient of linear expansion |
W JER ot

C : Co-efficient of superficial expansion |
IR PR YHR 0TI

D : Co-efficient of cubical expansion |
gAY GAR IOTh

133 : What is the unit of co-efficient of
linear expansion? | Y& J&R I[OTh &l

SIS T §?

A . Number /°C | Number /°C

B : Number /°C/ meter length | Number
/°C | meter length

C : Number /°C/ mm length | Number
[°C [ mm length

D : Number /°C/cm length | Number /°C
/ cm length

134 : Whatis term used for 2 x linear
expansion? | 2 x 3@ YER & [T A
QUG T YA BRAT ST &2

A : Co-efficient of friction | &ToT [uTieh
B : Co-efficient of linear expansion |
W JER Ut

C : Co-efficient of superficial expansion |
IR FPRIA JHR IOTch

D : Co-efficient of cubical expansion |
AT JAR I[OTh
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135 : Whatis term called for 3 x linear
expansion? | 3 x TET TAR & BT T
QUG T UINT RIT ST 72

A : Co-efficient of friction | &¥oT [0Tieh
B : Co-efficient of linear expansion |
W JER 0TI

C : Co-efficient of superficial expansion |
IR FPRAS YAR 0TI

D : Co-efficient of cubical expansion |
gAY JER I[OTh

136 : Whatis the co-efficient of linear
expansion of a rod if it is found to be 100 m
long at 20°C and 100.14 m long at 100°C? |

gfg T T3 20°C W 100 HeT oFar AR
100°C 9T 100.14 & ol<m UrT J7dr &, ar
WWWWW%?

A 1.75x10-4/°C|1.75x10-4/°C
B 1.75x10-5/°C|1.75x10-5/°C
C 1.75x10-6/°C|1.75x10-6 / °C
D 1.75x10-7/°C|1.75x10-7/°C
137 : Whatis called for the amount of

heat required to raise the temperature of
unit mass of a substance through 1°C? |

FFEY TSI & 3PS gl &l drgd
1°C 9gd & [FT 3{TaTh SCAT I ATl
P FIAT hod o7

A : Sensible heat | H0HT AT

B Latent heat | ITCd STaT

C : Specific heat | [HRISC SCAT

D Mixing of heat | AT &I [HHUT

138 : How much quantity of heat is
required?

m = 120 litres

t1 = 20°C

t2 = 85°C

S=42

Q= KJ | Bhdell ATAT H AT hr

3TITHRAT BT &2 m = 120 litres
t1 = 20°C

t2 = 85°C
S=42

Q= KJ

A : 32750 KJ| 32750 KJ
B : 32760 KJ| 32760 KJ
C : 32770 KJ| 32770 KJ
D : 32780 KJ| 32780 KJ

139 : Calculate the amount of heat
required to raise the temperature of 85.5
gm of sand from 20°C to 35°C specific heat

of sand = 0.1. | 20°C & 35°C & d& 85.5
IAMH IT P dIUATT deld & [T AT
SSAT I AT T 0T FHY

128.25 Joules | 128.25 [

125.28 Joules | 125.28 [

128.26 Joules | 128.26 [

126.28 Joules | 126.28 [

o0 wm >

140 : What is the specific heat of the
material if we require 510 calories to raise
the temperature of 170 gm of material from

50°C to 80°C? | #CRIS FI HIRTSC FTAT
Fa7 &, Ife 50°C ¥ 80°C deh dTUATA dared
P [T 510 Sl & TIIhaT alar &2

A : 01]01
B : 0.01]0.01
C : 11]11

D : 111|111

141 : How much quantity of heat is
required to raise the temperature of 300
grams of copper (sp.heat 0.092 cal/gram)

from 25°C to 75°C in Kcal? | Kcal # 25°C &
75°C d 300 ITH did & dTgATT &l dela
& [©T Ehdal AET H FCAT T ATaIhdr
BT §2 (ERISC FSAT0.092 cal/gram &)

A 138 Kcal | 138 Kcal

B 1.38 Kcal | 1.38 Kcal

C 207 Kcal | 207 Kcal

D 2.07 Kcal | 2.07 Kcal

142 : How much heat is absorbed by a

copper ingot weighing 400 Kg is heated
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from 40°C to 72°C for the purpose of
forging? (sp.heat of copper is 0.09) | ®ITSTaT

& 36T ¥ 400 [Fhell ToTel dlel dldl &
S GaRT 40°C § 72°C deh I i W
Ehcll AT GMIMT Y ST §2 (AT &

[HRISC SSAT 0.09 &)

A @ 1521 Kcal | 1521 Kcal
B 1251 Kcal | 1251 Kcal
C : 1152 Kcal | 1152 Kcal
D 1215 Kcal | 1215 Kcal

143 : What is called for the materials
that restricts heat flow by radiation,

conduction and convection? | 3 FRI
P FAT Bed o, oIt IBEALAA, dsard 3R
eI SIRT SCAT & Jare Pl Ufdemrd
GG ?f’?

A Conductors | gaex

B Insulators | 3=gele il

C Ferrous | &l

D Non-ferrous | 3dli®

144 : Which one is heat insulator? |

s?nfr PIA-T AT IR §2

A : Thermocole | UHTepret

B Copper | dTdT

C : Brass|sm™H

D Aluminium | TegHAAIH

145 . Which one has the highest
thermal conductivity? | FREH ZCHAT ATeldhdl

Hakreh el &2

A : Solid ice | 3 %

B : Melting ice | @aed! T
C : Water | UTaY

D Steam | dreg

146 : Which one of the following is not a
property of heat insulating material? |

SEARIYS ASRI BT S0 § PiT-AT 0T
Y

A : Low conductivity | spdH dTelhdl

B : Resistance to fire | 39T &7 9faY
C : Less moisture absorption | & 3T
3rgNyoT

D : Ductility | d=Idr

147 : Which insulating material is most
widely used in refrigerators? | ThioleX H

AUk ¥U § 3TN ERT ST dTell
FRTS Pla-am ¥2

Thermocole | Z&Tdrer
Polyurethane | QTellRA=
Glass wool | 7T gef

Cork sheet | ®l& efie

0O o >

148 : Which one is a poor heat
insulator? | 31 & PlA-AT Th GIT

A
B
C : Rubber|IR
D Saw dust | @ 3¥€

149 : What is known for the
temperature at which any solid melts into

liquid? | BFE ATUATT TR dIS 31, gd
Mgedr &7

A : Boiling point | FaYATR

B : Melting point | ITelATen

C : Latent heat of fusion | ¥gsieT v Ircd
SCAHAT
D : Latent heat of vaporisation |

arSRIROT T e FTAT
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150 : Whatis the melting point of
aluminium? | TegEATAIH BT FIAATD AT
grar &2
. 660°C | 660°C
680°C | 680°C
670°C | 670°C
620°C | 620°C

OO w>

151 : Whatis the boiling point of
aluminium? | TegFATAIHA T Tl FIT

BT 87

A : 1897°C|1897°C
B 2519°C | 2519°C
C : 2469°C | 2469°C
D 660°C | 660°C

152 . Whatis the boiling point of water?
| arell T FIUATR AT BT ©7

A : 0°C|0°C

B : 32°C|32°C

C : 100°C]|100°C

D : 212°C|212°C

153 : What is the melting point of
mercury? | #XEIY (AR) I FIUATD FIT
odr g2
. -357°C | -357°C
-209°C | -209°C
-7.1°C|-7.1°C
-38.72°C | -38.72°C

0O wm>

154 : What is the boiling point of
mercury? | #BIFIY (UR) &I Ieledieh AT

BT &2

A : 357°C|357°C
B : 280°C|280°C
C : 759°C|759°C
D 767°C | 767°C

155 : What s the ratio of force (or)
thrust per unit area? | I (@1 3¥e) 3R

SIS 8T P U Bl FAT Ped §?
A : Work | dX
B : Power | Ifdd

C : Pressure|ard
D : Energy| sl

156 : What is the equivalent pascal
value for 1 bar? | Teh IR I HAJT

URhol AT AT aIdl &7

A : 105 pascal | 105 Ul¥hel
B 107 pascal | 107 Ui¥ehel
C : 103 pascal | 103 Ur&hel
D 109 pascal | 109 UT&hel

157 : Whatis the Sl unit of pressure? |

&I 6T TH.IE. SHES FAT &2

A Joule | et

B Pascal | Ui&hel
C : Bar|dR

D Newton | =g
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158 : Which machine converts
mechanical energy into electrical energy? |

T 7MT ITAD Folt BT FId Soll
# gRafda & &2

A : Battery | it

B Generator | TeReX

C : Heater |8IX

D Iron box | eli&¢ T T

159 : Which is the unit of current? | 4RT

Eal s‘cmé T 2

A : Ampere | TROR

B : Volt|adree

C : Ohm|3&HA

D Watt | a1

160 : Which is the unit of resistance? |

ufary & g F=ar g2
A : Ampere | TRRRIX

B Volt | dree

C : Ohm|3&A

D Watt | a1

161 : Whatis the flow of electrons in

any conductor? | BRET HsFe H Foldgid

PT UdTE T BT &2
A : Voltage | atecst

B Current | 9T
C : Resistance | gfaQy
D Power | 2Ifdrd

162 : Which property of a substance is
opposing the flow of electric current? | Tery

& Pl-A 0T & HRUT I HId & JaTe
P ERIYT AT 872
A : Current | 9O

B : Voltage | diecst
C : Resistance | faRier

D : EMF |$Uusu®

163 : Which is very good conductor? |
PiT-ar T 3T hSFeT §72

A : Copper | d&T

B Cast iron | ¥ ATIA
C : Wroughtiron | IE 3RS
D

Steel | Tt
164 : Which is mineral insulator? | @le-
a1 giasl gegoel &2
A : Glass| CIG)
B : Quartz | Fdres
C : Mica | #TSaHr
D : Porcelain | el

165 : What is the total resistance if
three resistances of 3 ohms, 9 ohms and 5

ohms are connected in series? | If¢ 3
A, 9 3NH 3R 5 A & A gfayg
A # Sz W ol Gy &=r g
&2

A 11 ohms | 11 37

B 7 ohm | 7 301

C 17 ohms | 17 30

D 1/17 ohms | 1/17 301

166 : Whatis the total resistance if two

resistances of 4 ohms and 6 ohms are

connected in parallel? | 4 37197 3R 6 31
& e gfdiy A FAAR & Sz W Pl
gfaRIea T g 2

o0 m>
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167 : Wohat is the total resistance if
three resistances of 4 ohms, 6 ohms and 8
ohms respectively are connected in

parallel? | 4 30 3R 6 3797 3R 8 3NHA &
e gfdy & FAER F Sz T Pl

iR & T BT &2

A 2424

B 13|13

c : |

D : |

168 : Which is same in series

connection of resistors in a circuit? | &1

ghe A gfadl @ 98 FAFrT A

eI %TaT €7

A Current | 9T

B : Voltage | dieca

C : Resistance | Uiy

D Power | ifdid

169 : Which law states that at constant

termperature the current passing through a
closed circuit is directly proportional to the
potential difference and inversely
proportlonal to the resistance? |

A : Ohm’s law | 3 & Age

B Lenz’'s law | ofsT @ fageT

C : Newton's law | =g &1 faa#
D Hooke’s law | § & IGRE]

170 : What is the resistance?
=115 Amps

V = 380 Volts

R= Ohms | 9faRIYg &1 821 =
11.5 Amps

V = 380 Volts
R = Ohms

\\\'-‘"l\'l.ll”,l;//f

13 ohms | 13 371
23 ohms | 23 31
33 ohms | 33 31
43 ohms | 43 311

o0 o >

171 : Whatis the current?
R =50 Ohms
220 Volts

| = Amps | 9RT &7 §? R = 50 Ohms
V =220 Volts
| = Amps

4.1 Amps | 4.1 TRRR
4.2 Amps | 4.2 TRRR
4.3 Amps | 4.3 TRRR
4.4 Amps | 4.4 TRRTR

o0 wm >

172 : Whatis the voltage?

R =250 Ohms

| =0.44 Amps

V= Volts | dieesT &1 §2 R = 250
Ohms

| =0.44 Amps
V= Volts

H\@ﬂ ”H”G
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100 Volts | 100 drecH
105 Volts | 105 drecd
108 Volts | 108 diecH
110 Volts | 110 drecH

O 0O W >

173 . Which statement is correct
according to ohm’s law? | 3T H & fAIH &
IFAR PIA-HT HAF el 2

A o TuINV]|ITplNV

B IMR|IMR

C : IuVIR|InVIR

D |URV | I pRIV

174 : What is the filament resistance if a

6 volt bulb draws a current of 0.5 Amps? |

gfg T 6 diee &l dod 0.5 TIFRUIX URT

W ToIdl &, d haIdie &r gfay &7 &7
A . 12W|12W

B ow|io0w

C : 3W|3W

D 1.2W|12W

175 : How much watt second in 1 watt

hour? | 1 @lc gU¢ H @hda dlc HHUS @l
&

A 1000 watt sec | 1000 dre HHUS

B 2000 watt sec | 2000 dTe HHUS

C : 3600 watt sec | 3600 dTe HHUS

D 4000 watt sec | 4000 dTc HHUS

176 : Whatis the power if an emf of one
volt causes a current flow of lampere? |

Ife Td diec & SUATH, 1 TRFTIR e
% UdIg BT PRUT ddT &, dr UJfdd (@reR)

T B2

A 1 watt | 1 dre

B 1 kilowatt | 1 FreildTc

C 1 HP | 1 T9dr

D 1 Kilowatt hour | 1 Fpreildic €UCT

177 . Which is equal to electric power? |
SAH @ T [Hegd AMFd (UR) & RIR

grar &2
A : R2l watts | R2Il watts
B : I2R watts | I2R watts
cC : |
D : |

178 : How much power does it
consumes if an electric heater draws a

current of 10 amps at 200 volts? | If¢ T&h
Solfded gled 10 TIFPRR &1 &ie, 200
diec W hdar Afdd (@reR) & @ud &idr

&2

A 2000 watts | 2000 watts

B 2010 watts | 2010 watts

C 2020 watts | 2020 watts

D 2030 watts | 2030 watts

179 : Whatis the resistance of an

electric iron if the rating of electric iron is
220 V and 500 watts? | If¢ Teh Solfded

IRRA & IfET 220 diee 3R 500 arcH
®, dl 3@ gfaiy Ehder gem?

A : 94.8 ohms | 94.8 371

B : 95.8ohms|95.8 3

C : 96.8 ohms|96.8 3

D 97.8 ohms | 97.8 31

180 : Whatis the voltage of the
immersion heater?

P = 500 watts

| =2.27 Amps

V= Volts | 33T e &I dlecol
FgT EM? P = 500 watts

| =2.27 Amps
V= Volts
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200.3 volts | 200.3 dlec
210.3 volts | 210.3 dlec
220.3 volts | 220.3 dlec
230.3 volts | 230.3 diec

O 0O m >

181 : Whatis the unit of intensity of
magnetic field? | TahrT & & cerer &

q\%rc T B2

A wb/m | wb/m

B m/wb | m/wb

C Hertz | Hertz

D Coloumb | Coloumb

182 : Which law states about
electromagnetic induction? | dla-ar &TeT

SIFCIITATCD SSHUT & aR F IATT &2

A Ohm’s law | 311 &1 AT

B Hooke’s law | §& T G

C Lenz’s law | ofsT & faga

D Faraday's law | %18 & f&aer
183 : What is the formual for induced

emf? | $3gc35 SUATG & MU FAT FT §?
A : B2L sing volts | B2L sing volts

B BL sing volts | BL sing volts

C : BLVsing volts | BLV sinqg volts

D B2V sing volts | B2V sing volts

184 : What does EMF stands for? |
SUATH O FIT I 872

A : Electronic Magnetic Force |
Togiae HAfed B

B : Electro Motive Force | Selarel Fifea
By

C : Electro Magnetic Force | Selarer
drafed By
D : Electromated Force | Solacidics B

185 : Which is the example for statically
induced emf? | ®&fEhell $3g55 STATH &l
SETEXUT HlT-AT &2

A : Generator | STelReX

B : Motor | AT

C : Transformer | SRABREIR

D Refrigerator | ¥0RaReX

186 : Which is the example for
dynamicallly induced Emf? | SIS DI

$3g55 SUATT &l 3aTUT Hid-AT §7?
A : Motor | Al

B Generator | STeltex

C : Car|®R

D Motor bike | #leX dTSH

187 : Which is the unit electrical power?
| Seifergep UTeR & e @rar &2

A Volts | alee

B Ohms | 311

C Watts | d1eX

D Ampere | TlFTIR

188 : What is the current Flow in the
bulb?

P = 550 watts

R =22 Ohms

| = Amps | god H URT & JdT
EhdAT &2 R = 550 Ohms

V =22 Volts
| = Amps
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w
A 2 Amps | 2 TfFIR
B 3 Amps | 3 TfFTR
C 4 Amps | 4 TIFOR
D 5 Amps | 5 TFaIR

189 : Whatis the power required?

| =0.455 Amps
R =484 Ohms
P= Watts | Erdel Urax &l ATaeIehdr
©? 1 = 0.455 Amps
R =484 Ohms
P= watts
@1%1 Ix,-f,//f

98.2 watts | 98.2 dIc
99.2 watts | 99.2 dI€
100.2 watts | 100.2 d1€
101.2 watts | 101.2 d1c

0O o >

190 : Whatis the rated power if an
adjustable resistor bears the following label

1.5 k ohms/ 0.08A? | Ife TsTECT
ISR # AFmmEd odd &, ar 36!
I¢s UTaR T 82

A : 9.2 watts | 9.2 watts

B 9.4 watts | 9.4 watts

C : 9.6 watts | 9.6 watts

D 9.8 watts | 9.8 watts

191 : How much voltage will be required
to illuminate a 40 watts fluorescent lamp

draws a current of 0.10 amperes? | T 40
gre & FolAe oFT S Hie oar &, ar
38 YRRIAT I & [V Bhcde diec &l
IRl BT &2

A 390 volts | 390 dlec
B 395 volts | 395 dlec
C 400 volts | 400 arec
D 405 volts | 405 arec
192 : How many hours will take for a

100 watts bulb to consume 1 kwh energy?
W =1 Kwh
P = 100 Watts

t= Hours | T 100 dT€ & dod &l 1
kwh 5oT @Ud &l & [T FEhda °9Uc &l
3TITHRAT BT &7

W .
\_!.I' »

WOORE 162

10 hours | 10 €U
12 hours | 12 €U
18 hours | 18 €U
24 hours | 24 €U

0O W >
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193 : Whatis the area of a square
whose side is 18 cm? | Teh aaT TS 3T

18 ¥.3. &, 3ThT TP FIT [IIM?

26 cm2 | 26 cm2
36 cm2 | 36 cm2
72cm2 |72 cm2
324 cm2 | 324 cm2

OO w>

194 . What is the diagonal of a square
plate whose side is 28 cm? | T&h TINBR

Tolc &l 97 28 Q.. &, SHBT BT [Ehctell

39.29cm | 39.29 cm
39.39cm | 39.39 cm
39.49 cm | 39.49 cm
39.59 cm | 39.59 cm

UOW>’§,

195 : Whatis the side of a square
whose area is 625 mm2? | Teh gaT T T

Fa7 Breft, [ aaT & ahe 625 HHI2 §?

A 15 mm | 15 mm
B 20 mm | 20 mm
C : 25mm|25 mm
D 30 mm | 30 mm

196 : Whatis the perimeter of a
rectangle whose length and breadth are 20

cm and 18 cm? | Ueh 3T &bl URHATUT AT
BT, [T @ ars ua diss 20 9. T

18 ﬁzﬁ’r e?

A 56 cm | 56 cm
B 66 cm | 66 cm
C 76 mm | 76 mm
D 86 mm | 86 mm

197 : Whatis the area of a rectangle,
whose length and breadth are 10cm and

8cm respectively? | Tdh 3HTId &I & Thd

FT T, foad oS ug disrs el
10 9.3, ug 8 ¥ 7

A : 75cm2]|75cm2
B : 80cm2]|80cm2

C : 8cm2|85cm2
D : 90cm2]|90cm2

198 : Whatis the area of a right angled
triangle having a base 10 cm and height 5

cm? | Th HHABIUT I &I & ahel FAT
BT, T gerT 39 10 |3, dur 3418 5
@rafr 2

A : 20sqg.cm |20 sg.cm

B : 25sg.cm|25sg.cm

C : 30sg.cm|30sg.cm

D : 35sg.cm|35sg.cm

199 : Whatis the primeter of scalene.
Triangle having sides of 40mm, 20mm and

28mm? | 38 MY Hepror o1 afRea
T B, TS adhr gfem3it i AT 40 T,

20 T g 28 AT §?

A : 68mm|68 mm
B 78 mm | 78 mm
C : 88mm |88 mm
D 98 mm | 98 mm

200 : Whatis the area of an equilateral
triangle of side 450 mm? | 450 BT &Hr

mmﬁm@ﬁaﬁaﬁrww

S

Bam?

A . 856.82cm2|856.82cm2

B : 866.82cm2]|866.82 cm2

C : 876.82cm2|876.82cm2

D : 886.82cm2]|886.82cm2

201 : Whatis the area of a circle of
diameter 50 cm? | 50 4. <AE aT Il
Gl a%aua—or FIT BI?

A 1932.5 cm2 | 1932.5 cm2

B 1942.5 cm2 | 1942.5 cm2

C 1952.5 cm2 | 1952.5 cm2

D 1962.5 cm2 | 1962.5 cm2

202 : Whatisthe area of a (A)
semicircle whose dia is 20 cm (d)? | T

37CINe T &A%l &A1 BT, T oo
20 Q4. 2
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A 147.1 cm2 | 147.1 cm2
B 157.1 cm2 | 157.1 cm2 206 : Whatis the area of an ellipse if
C 167.1 cm2 | 167.1 cm2 the major and minor axes are 5 cm and 3
D : 177.1cm2|177.1 cm2 cm respectively? | Teh 3{USTR a&] &I
203 : What is the cross sectional area &GS AT T, forddh A T TSR
of a circular ring of D = 38 mm d = 32mm? | 3787 ShALT: 5 JA. T 3 JA. &2
U MR God Bl PII-HaITd &TT%h A : 27cm2|27 cm2
&1 g1, fger D = 38 mm d = 32mm? B : 37cm2|37cm2
C : 47cm2|47cm2
D : 57cm2]|57cm2
207 : Find the total surface area of cube
whose side is 25 cm. | 38 el &1 quT
geSIT &A% Hd Y, fSrahr e 25
. &2
A : 3740 cm2 | 3740 cm2
B : 3745cm2| 3745 cm2
C : 3750cm2| 3750 cm2
A 320 mm2 | 320 mm2 D : 3755cm2| 3755 cm2
B 330 mm2 | 330 mm2
C 340 mm2 | 340 mm2 208 : Find the total surface area of a
D 350 mm2 | 350 mm2 cast iron bar whose length, width and
204 What s th . Tor of height are 20m, 15m and 12m. | 38 hI¥EC
: at is the area of a sector of a
circle of radius 5 cm and its angle is 96°? | IRRA B B A q\u‘r W GEREESIC]
3H oo @ Yeed BT &1 AT B, By, g oS, diss vg Fars 20 Y,
Sradr Bsar 5 @Y. Tg HIoT 96° 2 15 #r Tg 12 T §?
A 20.39 cm2 | 20.39 cm2 A : 1340 m2| 1340 m2
B 20.93 cm2 | 20.93 cm2 B : 1440 m2 | 1440 m2
C : 20.89cm2|20.89 cm2 C 1540 m2 | 1540 m2
D 20.98 cm2 | 20.98 cm2 D 1640 m2 | 1640 m2
205 : Whatis the formula for area and 209 : Whatis the formula for total
perimeter of a hexagon? | T WeHl & surface area of a cylinder? | T HelUSY &
&Thel T URHAIT & FI AT 2 QU USSI &TFthel @l HF T &2
A : 3x03/4a2unit2 A 2wr(h+r)unit2 | 2 r (h + r) unit2

3a unit | 3 x O3/4 a2 unit2 B mr(h+r)unit2 | r(h+r) unit2
3a unit C : T1rrhunit2 | 1 rh unit2

B : 4x03/4a2unit2 4aunit| 4 x O3/4 D 21 rh unit2 | 21 rh unit2

a2 unit2 4a unit

C : 5x083/4 a2 unit2 210 : What is the volume of a
5a unit | 5 x O3/4 a2 unit2 rectangular tank of 30 m length, 20m width
ga un't6 8374 82 unito and 10m height? | T&h 3TIATHRR &,
© 6X a2 unit .
6a unit | 6 x O3/4 a2 unit2 Srecht orFars 30 3, @iste 20 #r va

6a unit
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mloﬁr%wma?rw%’>

A 5900 m3 | 5900 m3
B 6000 m3 | 6000 m3
C 6100 m3 | 6100 m3
D 6200 m3 | 6200 m3
211 : What is volume of the cylinder

whose radius is 7 cm and height 12 cm? |

3 VST &l ITId &7 &, forgehr

W?@?ﬁ Td A5 12 Tl &2

1842 c.c| 1842 c.c
1844 c.c| 1844 c.c
1846 c.c | 1846 c.c
1848 c.c | 1848 c.c

OO wm>

212 : Whatis the volume of sphere of
radius 7 cm? | 7 @Y. 3=r arel el &

IS T T2

A 1436 cm3 | 1436 cm3
B 1463 cm3 | 1463 cm3
C : 1346cm3| 1346 cm3
D 1636 cm3 | 1636 cm3

213 : Whatis the formula for finding
volume of a hollow cylinder having outer
radius "R” inner radius “r" and height "h"? |
Teh Nard Belvs fSraehr aredl 33 R,
eewar Bear r g A1 Ch' §, 38T
HIAA AT P & [FU I FAT §?

A mR2-r2)hunit3|m(R2-r2)h
unit3

B : m3(R2-r2)hunit3|m/3(R2-r2)h
unit3

C : 2/3mR2-r2)hunit3 | 2/3 m(R2 - r2)
h unit3

D : 4/3m(R2-r2)hunit3|4/3 m(R2 -
r2)h unit3

214 . What is the capacity of a conical
tank of radius 2 m and height 5m? | Tdh

2 . g a8 5 A 72

A : 11m3|11m3
B : 21m3|21m3

C : 31m3|31m3
D : 41m3|41m3

215 : How many liters of water a
cylindrical tank of radius 75 cm and height

100 cm can hold? | 75 @Y. &1 Bsar a
100 ¥, Fr FA1S arell Th AR &b

Wm?ﬁwm%')

A 1766.25 liters | 1766.25 liters
B : 1767.25liters | 1767.25 liters
C : 1768.25 liters | 1768.25 liters
D : 1769.25 liters | 1769.25 liters

216 : What is the total surface area of a
cylinder having radius 2 metres and height

5 metres? | 38 DHeIUSY &1 qUT JESIT
ST T &, fogd e 2 & 3k
3%11%5;11%9

A 86 sg.metre | 86 sg.metre
B : 88 sg.metre |88 sq.metre
C : 90 sqg.metre | 90 sqg.metre
D : 92sg.metre |92 sq.metre

217 : Find the curved surface area of a
cylinder 10 cm dia and 20 cm height? |

IHCIUSY &l FATIER Acle &Thel ATd &Y,
Sadhr Bar 10 @l v A 20 I.

628 cm2 | 628 cm2
630 cm2 | 630 cm2

o7

A : 620cm2]|620 cm2
B .

C

D 638 cm2 | 638 cm2

218 : Whatis the name of the object? |
3H 3ieolde &I AT FT §2
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A
E .’; h‘*. o D = BASE DIA
) d = UPPER DIA
{ =SLANTHEIGI
- h =VYERTICAL HE
Ay = TOP AREA
B o ﬂi = HASFE AHFA
A Triangular prism | 3SR TreH
B : Frustum of a pyramid | Tch ARTTAS
Fl Becich
C : Frustum of a cone | Bl &l Becih

D : Hexagonal prism | AN Hod
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219 : Whatis the ratio between the
distance moved by the effort to the distance

moved by the load? | SITH @RI THE g
T WK ENT @ oS g o e
3T ©?

A : Mechanical advantage | #hfadd
Tsdleca

B : Velocity ratio | deil0eT IR

C : Efficiency | TIFRRIUEY

D : Fulcrum | elshdA

220 : What is the mechanical
advantage, if a load of 1000 kg is lifted by a
simple machine and effort applied is 250

kg? | If¢ TH 1000 ERIT. T HR Th
AIYROT AMA GaRI FST S1ar & 3R 250
ERIT. &1 U (IcT) STITAT I:T, at
HpfApa vsares mdaT 87

A . 6|6
B : 8|8
C 3|3
D : 4|4

221 : Whatis the velocity ratio of a
wheel and axle if the radii of wheel and axle
are 375 mm and 75 mm respectively? |

tﬁauﬁwwawagrmawm,
gfe =& vd Taad fT Bear AT 375

YT g 75 T &2

A : 3|3

B : 4|4

C 5|5

D 6|6

222 . What is the velocity ratio of a

simple machine of a mass 120 kg is lifted to
a height of 5 metres by a force of 60 kg
moving 15 metre. Calculate velocity ratio? |

Teh grUReT AR ST aaa 120
EhellaITH &, 38 60 BRI & el GanT 5 .

&I Far$ b Sorr AR 15 Al dh gl
g &r| #AMNT Pr dar 3T HATe[H PI?

A 1)1
B : 2|2
C : 3|3
D : 4|4

223 . What s the efficiency of a simple
screw jack having velocity ratio is 314.2 and

mechanical advantage is 2207 | €TYURUT
Sich & TORRITHT &1 &, | ot
31U 314.2 Td HhfAdhe TsdiesT 220

©?

A : 06|06

B : 0.65]|0.65
Cc : 07]0.7

D : 0.75]0.75

224 : How much load is lifted if an effort
of 25 kg is applied to a simple machine
having velocity ratio of 4 and efficiency

75%7? | T @R #M Taepr dar
37U 4% Td UDRRITET 75% ¥, IS 25
ERIT. T df SI9TAT ST, al el HR

IS ST Hobdl &7

A : 65kg|65kg
B : 70kg]|70kg
C : 75kg|75kg
D : 80kg|80kg

225 : What is the name of fixed or
supporting point of a lever? | olfaX & hed

Td guIféer waise & T A 82

A : Mechanical advantage | #&bfade
TsdleeS

B : Fulcrum | ®elhdA

C : Effort| e

D : Load|ds

226 : What effort required to lift a load
of 150 kg in a wheel and axle, if the velocity
ratio is 2.5 and the efficiency of the



Workshop Calculation and Science — Year 1 Module 9
Reviewed and updated on: 01% November 2019 Version 1.1

machine is 75%? | T&lel Td Taad A 150
ERIT. T HR 33T & [T Ehdel dol
IRV, IfE AT 3qUIT 2.5 & v aMA &
UORRITE 75% &7

A : 70kg]|70kg
B : 80kg]|80kg
C 90 kg | 90 kg
D 100 kg | 100 kg

227 : Whatis the distance of the load
from the fulcrum called? | Belshdd & oI5 &I

&l & [T AT el STl &2
A : Effortarm | T®HE 3T

B Load arm | /s 31TaY

C : Powerarm |UraR 31

D Effort | ThC

228 : Which is example for first order
lever? | HEC 3TSX ollaX & 1T dhid-aT
3ETERUT §?

A : Awheel barrow | T&h Tl &Y

B : A pair of scissors | i/ & U
SRy

C Fire tongs | PRR &iead

D Lime squeezer | dISH TFdIo
229 : Which is example for second

order lever? | GEART 32T e @l Hi-AT
3T §?

A : Common balance | ®IFE doig

A pair of scissors | HiS/ &T Tdh

Bottle opener | didel 3TR

B
SEy
C
D Human forearm | Eg# BR3TH

230 : Which is example for third order
lever? | i 31T ollaX T iT-AT

IETRUT 872

Common balance | ®IFAT ol
Forceps | BRATH
A pair of scissors | HIST & Tdh

UgOUJID

Lime squeezer | dI3HA FFdIoR

231 : Which type of levers is bell
cranked lever? | BIF-8 UBR & oy, dof

hars ollaX T &2

A : Curved lever | 8 ollaR

B : 1storder lever | 1st 3iEY o’
C : 2ndorder lever | 2nd 3iEY R
D : 3rdorder lever | 3rd 3iEY )

232 : Which order lever is claw
hammer? | Fell §3X BIF-TT 3BT olaX &2
1]

sl

1 F

1st order lever | 1st 3T o’

2nd order lever | 2nd 3iEY oflaR
3rd order lever | 3rd 3iEY oflaR
Curved lever | ed e’

0O o >

WEBCN2G1615015
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233 : How many degrees is equal to

one radian? | T BT Erd< IEIT &
SRR BT 872

234 : Which is equal to sinq? | sin® ErA
& R TdT &2

A : Opposite Side/Hypotenuse | AT
8T £Rot

B : Hypotenuse/Opposite side |

hOT TR 3T

C : Adjacent Side/Hypotenuse | 3T
TSI AROT

5 :  Hypotenuse/Adjacent side |

T BTTH 3T

235 : Whatis equal to cosq? | cosB
EREd ST &1 &7

A : Hypotenuse/Adjacent Side |

O AT 3T

B : Adjacent Side/Hypotenuse | 3T8e
§ST 20T

C : Opposite side/Hypotenuse | EHULT
8oT1 20T

D : Hypotenuse/Opposite Side |

hOT TR 3T

236 : Whatis equal to tanq? | tan®
EFgdh SRIER aIdl &7

A : Opposite Side/Hypotenuse | EWRIA
3T 20T

B : Adjacent Side/Hypotenuse | 38
3T 20T

C : Opposite Side/Adjacent Side | U
ST AT 33T

D : Adjacent side/Opposite side | 3THed
ST AT 37T

237 : Whatis the value of tanq if sinq =
4/5 7 | tan® &7 AT FAT &M, IS sin 6 =

4/5 gl

wles O njw Owlo @o|e >

238 : Whatis the value of q if sinq =
03/2? | 6 &1 AT &A1 WM, IS sin 6 =

V3/2 &I

A : 30°|30°
B : 45°|45°
C : 60°|60°
D : 90°|90°

239 : Whatis the value of tan 45° if sin
45° = 1/027? | tan 45° Ehd=T &19T, IfS sin
45° = 112 &

A
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111

Slm O woltn @ 5 -

240 : Whatis the value of sin 30° if cos
30° =3/2 ? | sin 30° &T AT ErclalT B9,

Ife cos 30° =3/2

Sl= Tl O Tlm T

241 . Whatis 1+ cot2q? | 1 + cot20
Ehclell BIIM?

. sec2q | sec2q

. cosec2(q | cosec2q

cot2q | cot2q
tan2q | tan2q

o0 wm>

242 : What is the height of the wall
where the ladder touches the wall if the
ladder is 2.5 m long makes an angle of 60°

with the ground? | T&s & STHT oIS
2.5 e ¥, &R & AU {E W 60°
PIOT IAT §T @I & AR HiY A5 1
Gy

&
4
A 413 m|4.13m
B 423 m|4.23m
C 2.165m | 2.165 m
D 443 m|4.43m

243 . What is the height of AC? | AC &Y
3978 FAT 82

c

A 100 m 4 B

1.732m | 1.732m
17.32m|17.32m
1732m|173.2m
1732 m | 1732 m

o0 mo>

244 . What is the height of the building
if a ladder at 45° touches the building
placed 16 m from the base of the building? |

HIT T FA18 AT HY, I Th BT GlaR
8 45°HT BIOT g Had § 16 AN & g W
CEIY

A 15m|15m
B 16 m|16m
C 17m|17m
D 18 m |18 m
245 : What is the angle of elevation of

the top of a light house of 15 m height seen
at a point 15 m away from the base? |

UIEARI BIUT AT &, IfG Th s edd
e 3ar$ 15, a 3marR ¥ gft 154
2l
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Hm
-
ifmn
A 30° | 30°
B 45° | 45°
C 60° | 60°
D 90° | 90°

246 : Whatis the angle of q? | 8 I0T
ERcelT B

100 [3m
-~
&
100 | l\
A 30° | 30°
B 45° | 45°
C 60° | 60°
D 90° | 90°

247 . What is the term for the object
seen higher than eye level? | 3iT@ $r Tds

¥ W WA & B0 FAT TH 2

A : Angle of inclination | SfeTd &T I0T
B Angle of friction | ETYUT T IoT

C : Angle of elevation | 3e=1gel &IOT

D Angle of depression | 3/dTdH PI0T
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